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I = —u®® 4 —2u—1)

* 1 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u*—u®+... —2u—1)

(i) Arc colorings

= (3)

0
ag = u

1
as = U2

u

ag = \yd+u

w? 41
ay = U4 + 2’LL2

—ud —2ud —u

10 = \ —u” —3u® —2u +u

ud +2u
ar = ud +u

—ub — 3ut —2u% +1
a; = —ub —2ut —u?

—ul® — 71t — 19012 — 22410 — 348 + 14u8 + 6u* — 2u2 + 1
as = —ul® — 6ult — 14u'? — 14u1% — 208 + 6ub + 4u? + 22

—ul® — 6ul3® — 1dutt — 14u® — 2u” + 6u® + 4u® + 2u

a6 = \ —t7 — 7ut® — 19413 — 2241 — 30 + 14u” + 6u® — 2ud +u

w4+ 15u30 o — 4w+ 1
a1 = u387u37+”'+3u+1

w4+ 15u3 4+ — 4w+ 1
ain =\ 3 —u3 4+ +3u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u37 + 4430 — 60u3® + 560 — 408u33 + 352u5% — 1632u3! + 1284u30 — 4136w +
2900128 — 648827 + 3844u%0 — 4940u2° + 1868u?* + 2188u?® — 2704u?? + 9160u?! —
5360120 4 774400 — 2920118 — 46817 + 119266 — 514845 + 2160ut* — 27003 4+ 768ul2 +
5400t — 24410 + 756u° — 96ud + 11207 — 140u® + 12u® — 68u* + 16u® — 4u? + 4u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C7,Co w4 —26u—5
C2,C3,C8 W B -1
C4,Cp w3 F3u o —du—1
c5, €10, C11 W B 21




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7,Cy Y30 — 37y .. £ 276y — 25
C2, 3, Cg v 431y 12y — 1
c4, Cg 1938 12y — 1
c5, €10, C11 y39 —33y38+~-~+12y— 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 0.184373 4+ 1.1132801

—1.87456 — 2.888691

—14.2614 + 3.84961

u= 0.184373 — 1.1132801

—1.87456 + 2.888691

—14.2614 — 3.84961

u = —0.870700

—12.5889

—20.2660

u=0.859957 + 0.0659501

—8.34775 — 7.830201

—17.2097 4 5.19071

u = 0.859957 — 0.0659501

—8.34775 + 7.830201

—17.2097 — 5.19071

u = —0.840218 + 0.0597901

—3.40399 + 3.954941

—12.75445 — 3.989021

u = —0.840218 — 0.0597901

—3.40399 — 3.954941

—12.75445 4 3.989021

u= 0.814161 + 0.0227661

—5.70205 — 0.097541

—16.2351 — 0.63621

u = 0.814161 — 0.0227661

—5.70205 + 0.097541

—16.2351 4 0.63621

u = —0.062866 + 1.2079901

2.96167 4 1.253231

—8.48961 — 5.227111

u = —0.062866 — 1.2079901

2.96167 — 1.253231

—8.48961 + 5.227111

u = —0.383266 + 1.2138201

0.146925 + 0.4446391

—9.41731 + 0.596891

u = —0.383266 — 1.2138201

0.146925 — 0.4446391

—9.41731 — 0.596891

u=0.407915 + 1.2089901

—4.82928 + 3.283521

—14.1252 — 1.75361

u= 0.407915 — 1.2089901

—4.82928 — 3.283521

—14.1252 4 1.75361

u= 0.366310 + 1.2562201

—1.87897 — 4.149841

—12.49254 4- 4.420681

u= 0.366310 — 1.2562201

—1.87897 + 4.149841

—12.49254 — 4.420681

u = —0.407478 + 1.2733801

—8.63550 + 4.578331

—16.5882 — 3.25381

u = —0.407478 — 1.2733801

—8.63550 — 4.578331

—16.5882 + 3.25381

u= 0.362109 4 1.2933401

—1.59442 — 4.327411

—11.59101 + 2.451241

u= 0.362109 — 1.2933401

—1.59442 + 4.327411

—11.59101 — 2.451241

u = —0.091582 + 1.3404301

3.95422 — 0.663851

—6.81341 + 0.1

u = —0.091582 — 1.3404301

3.95422 + 0.663851

—6.81341 4+ 0.1

u= 0.126262 + 1.3408001

7.43974 — 3.247011

—3.23245 + 3.901041

u=0.126262 — 1.3408007

7.43974 4 3.247011

—3.23245 — 3.901041

u = —0.153420 + 1.3444401

3.18314 + 7.201851

—8.30980 — 6.600921

u = —0.153420 — 1.3444401

3.18314 — 7.201851

—8.30980 + 6.600921

u = —0.378228 + 1.3134107

0.88961 + 8.335241

—8.46162 — 6.44444]1

u = —0.378228 — 1.3134101

0.88961 — 8.335241

—8.46162 + 6.444441

u= 0.389378 4 1.3197101

—4.01328 — 12.315001

—12.9972 + 7.69731




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u= 0.389378 — 1.3197101

—4.01328 + 12.315001

—12.9972 — 7.69731

u = —0.492543 4 0.3351681

—2.04249 + 4.992211

—14.0623 — 7.31681

u = —0.492543 — 0.3351681

—2.04249 — 4.992211

—14.0623 + 7.31681

u= 0.582761

—5.05980

—19.3550

u = —0.317690 + 0.4588411

—1.46078 — 1.976391

—11.86139 — 0.459411

u = —0.317690 — 0.4588411

—1.46078 + 1.976391

—11.86139 + 0.459411

u=0.409039 4 0.3621851

2.19576 — 1.424691

—7.96461 + 5.042907

u=0.409039 — 0.3621851

2.19576 + 1.424691

—7.96461 — 5.042901

u = —0.296485

—0.479709

—20.6440




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7,Co S w4 —26u—5

C2,C3,C8 ¥ —u e 2u—1
C4, C w3 +3u o —du—1

C5,C10, C11 u39—u38+---—2u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C7,Co y3 — 37y + -+ 276y — 25
C2,C3,C8 Y30+ 313+ 12y — 1
c4, Cg v 419y 12y — 1
C5,C10, C11 y39—33y38—|—~--+12y— 1




